
Math Numbers and Operations K_5

Student Name:________________________________ Date:____________________

1. 

What number is missing?

A. 3

B. 4

C. 1

  

2. 

How many?

A. 8

B. 4

C. 6

3. 

What number is missing?

A. 4

B. 6

C. 2

4. 

How many flowers?

A. 2

B. 3

C. 4



5. 

5 − 4 = 

A. 1

B. 6

C. 0

  

6. 

What number is missing?

A. 17

B. 13

C. 15

7. 

 1
+ 2

A. 3

B. 2

C. 0

8. 

A. 9

B. 5

C. 6



9. 

2 + 2 = 

A. 4

B. 5

C. 3

  

10. 

A. 3

B. 5

C. 4

11. 

How many?

A. 12

B. 11

C. 10

12. 

60, 50, 40, 

A. 30

B. 80

C. 20



13. 

A.

B.

C.

  

14. 

Which group has the fewest?

A.

B.

C.

15. 

2, 4, 6, 

A. 10

B. 8

C. 7

16. 

Which shows 9?

A.

B.

C.
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